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1 A simple example

Setting up integral equation

Very often the problem of solving a linear differential equation can be
replaced with solution of an integral equation. An important feature
of the integral equation approach is that the initial conditions to be
satisfied by the solution is built into the integral equation. The integral
equation can be solved many a times by an iterative procedure which

we shall illustrate by an example of a simple differential equation.
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Suppose we are interested in solving the differential equation

dy
dx 4 (1)

subject to the boundary condition
Y(X)|pmzg = N (2)

where N is a constant. To convert Eq.(]) into an integral equation we

integrate Eq.() to get

y(x) = )\/y(:r)d:r + constant (3)
or to be more precise, let us write Eq.(3]) as

y(zr) = )\/Ox y(t)dt + constant (4)

The constant in the above equation is fixed by making use of the initial

condition Eq.(2), and we get const= N and

) =N a [t (5)



Perturbative Solution of Differential Equation

1 A simple example

It is to noted that the unknown function y appears inside the integral
sign, hence an equation of this type is called integral equation. This
equation can be solved iteratively giving a solution as a series in powers
of A. This method gives the exact answer in the case of this simple

example under consideration.

Perturbative Solution

As a first step, we set y equal to yg where
yo=N (6)

is the solution in the zeroth order in A and is simply taken to be equal to
the first term Eq.(@). Next the zeroth order ’solution’ ,yp, is substituted
in the right hand side of Eq.(H]) to get the solution in the first order in

A. Thus we have

n(z) = N—l—)\/oxyodac (M)
_ N+)\/0 Ndz (8)
yi(x) = N1+ Nz 9)

To improve the approximation, we substitute y; (x) for y(z) in right hand

side of Eq.(2]) to get the next approximation ys(x) for our solution.

() = N4 /0 " (@)da (10)
= N—I—)\/IN(I—i—)\x)dx (11)
0
1.2
= N<1+)\:z+)\27> (12)

continuing in this fashion we get

ys(z) = N+ )\/ yo(z)dx (13)
0
T 1.2
= N—i—N)\/ <1—|—)\:r—|—)\7>d:r (14)
0
A2z \3g3
= N(l—i—)\x—i— 5 + i ) (15)
A2x2 N33 Nt
ya(x) = N(1+)\:E+ 5 + a0 + o > (16)
Thus we get an infinite series in powers of A
)\2 2 )\3 3
y(:p):N(1+)\x+ > +3—T+...> (17)
summing the series we get
y(x) = Ne (18)

Note that this is the correct solution for ordinary differential equation

and satisfies the given boundary condition y(0) = N.

Alternate approach — Using series expansion
The above method of solution is equivalent to the following alternate

sequence of steps. We want to solve

X
y(z) = N+ / y(t)dt (19)
0
we assume that the solution can be written as a series in A

y() = ap + A+ A2 + -+ "N - (20)

QM-18 Lecture Notes




Integral Equation for Scattering

3 Integral Equation for Scattering

we substitute Eq.(20) in Eq.([I9) and compare powers on both the sides.

Therefore we get
ao(x) + Aar(z) + Nag(z) 4+ ... Nla (z) + ... (21)
:N+A/)@Mw+xmw+ﬁ@mxw+m}m (22)
0
on comparing coefficients of different powers of A we successively get
ap(z) = N
ar(z) = / ap(t)dt = Nz
0
T 1.2
an(z) = /aﬁW—N—
0 2

73

ar(z) = /Oxozg(t)dt:Ng

T k
ar(z) = | api(t)dt = N— (23)
0 k!
Therefore we get
)‘2 2 A" n
y(@) = N {1+ Az + pa” 4 —a oo (24)

2 Green function for Poisson equation

In electromagnetic theory the electric potential satisfies the Poisson
equation
vip = -2 (25)
€0
where p(7) is the volume charge density. The Green function for the

Poisson equation is defined by

V2G(F) = —83(7) (26)

If ¢o(7) is a solution of the Laplace equation
V2¢o(F) = 0, (27)

then ,
B(F) = do(F) + / G — )P g3y (28)

€0
is a solution of the Poisson equation which can be easily verified by
applying V2 on both sides of Eq.(28]).

28 (7 2 2 a_ﬂrp(?ﬂ)g/
V(i) = V() + V| G(F—1") . d’r (29)
0
.
_ / v2G(r— )2 g3, (30)
€0
_ —5i B — 7)) BT (31)
0
p(7)
= —— 32
. (32)
It can be shown that one solution of Eq.(26]) is
1
G(r) = g (33)

This Green function gives the potential due to a charge distribution
subject to the condition that the potential vanishes at infinity. The
exact form of the Green function and the solution ¢y of the Laplace

equation is determined by the boundary conditions of the problem.

3 Integral Equation for Scattering

In order to convert the Schrodinger equation

{%?v?+mm}sz¢ (34)
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3 Integral Equation for Scattering

into an integral equation we first rewrite it as

(V2 + k%) o = u(F)y(7) (35)
2uk
where k% = %, U(r) = h’ZV( r) and we have defined Green function

G(7) as a solution of
(V2 + k%) G(7) = —48() (36)

and it was found that several solutions of Eq.(38]) exist.Thus G(7) can

1
Gyi(r) = T XP +kr (37)
s
_, 1
Go(T) = - cos(kr) (38)

using the Green function we shall now write down a ”formal” solution
of Eq.(33) as a solution of integral equation. Next we shall determine

the behaviour of the solution as r — oo and show that the choice

1
G(r) = Ty P ikr (39)

leads to the correct boundary condition on the wave function. Using
a Green function which is a solution of Eq.(38]) a formal solution for
Eq.(33) can be written as

O(F) = B(F) — / G7 — FNU (7)) d (40)
where ¢(7) is a solution of the equation
(V? + k%) (i) =0 (41)
For the scattering problem we must select

$() = exp(ik;.7) (42)

where k; is the momentum of the incident particles.Substituting Eq.(39])
Eq.@2) in Eq.[ Q) we get the integral equation for the scattering to be

. ik|7—17| . .
() = exp(ik;.7) — i / ﬂU(T’)@D(T’)dgT/ (43)

4m |77 — /|

To verify that ¢ (7) given by Eq.([#3]) does indeed have correct asymptotic
T T
property we expand |7 — /| in powers of = we shall assume that the

r
potential is short range potential so that the contribution to integral

over 7/ comes from small value of r/. Expand |7 — /| in powers of r’

F—r| = \r24r2 - 2F (44)

7o 2\ M2

Using binomial expansion we get

I 7o 2\ 2
|T‘—7’/|:7’<1— = +O<ﬁ>> (46)

We substitute Eq.(#G) in the exponential and in the factor — = in

Eq.([@3) and write

1
e ] - to get

1

() — exp(ik; - T) — ﬁ /exp (’Lkr — ’Lk F) U(F’)@/J(f’)d%ﬂ’?)
. eikr
= exp(ik; - 7) —

drr

/ exp(—iki - P U)o ) (48)

In the last step we have introduced a unit vector n = 7*/r. The Eq.(48)
gives the probability amplitude ( wave function ) at 7. If the particles
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3 Integral Equation for Scattering

are to reach at a detector at 7, the vector n must be in the direction of

the final momentum and parallel to ky. Note that
[ki| = [y | = k (49)
holds as a consequence of energy conservation and hence
k(7)) =kp -7 (50)
Thus Eq.( 8] takes the form
ikr

g &

() =~ exp(ik; - T)

" A / exp(—ik - 7)U(r)p(r)d*r'  (51)

This asymptotic behaviour is of the for expected for large r

- e

W(7) ~ exp(ik; - T) —

f(0,¢). (52)

Comparing Eq.([BI) with Eq.(52) we see that the scattering amplitude
is given by

£0.0) = 3 [ explify - UGG (53)
-~ (55) / exp(—iky - 7)V ()o@ )d (54)

It must be noted that the integral equation Eq.[@3]) and the expression
for the scattering amplitude in Eq.(54) are exact results. We shall
next discuss how to use (@3] and (B4]) to obtain scattering amplitude in
the Born approximation.
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